EARAROBEEIERT — 2 N— IBISH —F

20175 7H20H (K) 9mEZHE3H

INR Y5 3%8# 8 Y5R3K (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :250,000” ~ 23#%&:63,000”  33%&:25,000M”  43%&:15000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N _ . IBENEES :30. -1-1- . — R (BHE)
1 6| YA TRhA i 3 oa 1(3_0)4 1-1-1-1 | 39.8 1 ;1_357) %mﬁ@
RF4—TALNT s B AT T~ BiAS
2 3| Py YTE-—L # 3 gis_ﬂg?ﬁﬁ 1:(341).2 5552 (3.9 — | 2 | 503 2;2;;%% (BHE)
R:Tw TRy b BT7UETYYT (-4) FE 51F
30717177+ i3 | FERE 1:32.5 2-2-2-3 [41.8| — | 4 | 512 &%ZE;@A (BHE)
: 6 _ =t
QHI v BIKAT T © 12175055
4lglg|LAAY Y h—T— 4 3 ﬁhg?’ﬁﬁ (12313/20) 3-3-3-5 |42.1| — 5 420 ﬁg;g?ﬁ (BHE)
L= RLEYIL B:T7rE1SXECX N et/ iy
5lglo| FIr>FTaZ b 4 3 sié?gﬂﬁfﬁ 1.(333).6 4444 | 425 — | 6 | 475 Bﬂ(;?ﬁjﬂ}(i_ﬂg%tya)
RTRIAVYIV IR BA—F1 4L P25 ) | zm
6lili|7177=9735> it 3 {;BE;J.IA’A%J 1:(375).1 8-8-7-7 |41.4| — 8 471 %(g?—s(%f}%),ﬁ“:
L:vavFrrhT BN-b P RT7O- (42) A OER
7 4| PFENF R i 3 ;Lluéi— 1(/33; 7-7-7-8 | 41.4| — 7 ;1_357) E?ﬁéa&(%ﬁg)
LiHNAPLTAbE BRIE—XF—5— I BRI
# 3 | ETHE 1:35.3 6-6-66 |42.1| — | 3 | 461 |HIBE—F (BEE)
s 2 Y- ¥2Y— %55.0 M | FEEA
R:vagrih>7 B:IANATES Faprty
95|55/ 7537315 > g | ML 1:(315).5 9-9-9-9 |40.8| — | 9 | 415 ﬁzggﬁi_@xﬁf%)
QiHREFY A —bL—X O 1o Sk g
® I—F—@EBIERL
13—7+— 6,7,8,9,3,2,4,1,5
23—+ — 6,7,8,9,3,2,4,1,5
3a—F— 6,7,8,9,3,2,(1,4),5
41—F— 6,3,7,9,8,2,1,4,5
[ N5
B 6 110M 714K 3-6 100M & 3-6 150M &R 3-6-7 350F
# B 6 100M 6-7 180 B E 3-6 140/ EE 6-3-7 540
3 110 3-7 310M B H 6-3 190M
7 170

ABICOVWTRDTEEERROODE. TR LIV,




